2 HREHZLEDBECLELE

IR EERIEERE = O EEIL 100 FE T, pifEE L v 11 B ek 11 =)
LTWah,
REEBNCAD & NS 6 E, AL 94 H & 7g > T b,

FEEHUE 14,423 AT, BIEE LD 1,628 A (12.7%) LTV 5,

BLINCH D & BFA 7,443 AT, AMAEEE LD 847 N (12.8%) HEAnL |
75 6,980 AT, BMEEE LY 781 A (12.6%) HIML T\ 5,

FRIEFBITIL, AN 794 N, FASLS 13,629 AT, FANLINEIRD 94. 5% %
HH TS,

R TIE, 0~2 %2 4,691 AT, AIFEEE LD 598 A (14.6%) #EANL .
3NN 3,312 AT, ATFEE LD 258 A (8.4%) HAAN L., 4 % )eA 3,231 AT,
ATAEEE LV 411 A (14.6%) BEINL. 5 E28 3,189 AT, RI4EE LY 361 A

(12.8%) ML T35,

IREERIEEE Z & b FEgbER VNI 1 IR BRI 2 SR Al
BEZELEETHEDOLR) 1X37.6% T, AIFFELY 4.8 R/ P EHRLT
W5,

HEH (KBFE) 1£2,302 AT, BHHEELD 258 A (12.6%) #EAL T
50

BLHNCHD E, BFHEN 96 AT, BHFEE LY 15 A (18.5%) L,
LTHEN 2,206 N THY | BIEE LD 243 A (12.4%) ML W5, 5
¥z ED DL FHEDOEISIL95.8% Th 5,

x4 HPYREFRBECELEDOHR (AL - [, 2k AL %)

A B C D 154 7= REHE - REMEIANS 7Y ~

w | B | eesk | BB [mmE | e [ B [ e st 2 T2

B | ORES#) | M |~san | SRR |o~san | MEEC |0

C/D

Sk 27 26 137 3,972 — 594 — 20. 5 — 6.7 — 96. 5
28 58 292 8,435 112.4 1,307 120.0 19.4] Al.1 6.5 AO0.2 95.8
29 80 390 11, 479 36. 1 1, 864 42.6 19.8 0.4 6.2 AO0.3 95.8
30 89 427 12, 795 11.5 2,044 9.7 20.4 0.6 6.3 0.1 96. 0
| 100| 478 14,423 12.7| 2,302 12.6| 20.4 0.0 6.3 0.0/ 95.8
INST 6 31 794 57.9 113 66. 2 18.0| AO0.2 7.0 AO0.4 95.6
FLST. 94 447 13, 629 10.9 2,189 10.8 20.5 0.0 6.2 0.0 95.8




&5 FRAIEREHK (AT 2 A)
Eeyicy at OB |1 | 2mIE | 3T |42 | 5IR
SRR 27 3,972 91 512 564 950 943 912

28 8,435 256| 1,128 1,384| 2,012 1,826| 1,829

29 11,479 3501 1,582| 1,830| 2,653| 2,538 2,526

30| 12,795 388 1,727 1,978 3,054 2,820 2,828
SMxc| 14,423 433| 1,978| 2,280| 3,312| 3,231| 3,189
B3 7,443 2451 1,026] 1,202 1,717 1,641| 1,612
g 6, 980 188 952 1,078| 1,595 1,590| 1,577
INNT 794 21 100 116 198 174 185
FLN7| 13,629 412 1,878 2,164| 3,114 3,057| 3,004

#6 HEESEVEFECELEREE (BAL : AL %)

fE gt SIREEERIERE - &4 INFARER 1 PEEERINE - &
=< CEER" FAEE N RS
Wk 28 911 8, 466 10. 8
29 1, 895 8,133 23.3
30 2,620 7,998 32.8
Sfx 2,950 7,846 37.6
M2 ERHBOHE
(N) (%)
16, 000 100. 0
1£
14, 000 1900
=
o 1 80.0
12, 000 %
o 1 70.0
10, 000 1 60,0
8,000 1 50.0
6, 000 1 40.0  eeeceee ONQ%JEL%]\%]@J/EI\
4, 000 -—- 4R AREES
12 —— smmamEmsEs
2,000 - 1 10.0
0 0.0

H27 28

29

30 R1



